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Matrerial P600 PF600 P800 PF800 P1000 | PF1000
k
Cement [;ij 350 230 400 270 450 300
m
kg
Fly Ash| —% - 120 - 130 - 150
m
k;
Sand| —5- - - 180 180 340 340
m
/
Polystyrene —J 1000 1000 900 900 850 450
m
Water(%) 180 180 180 180 180 180
m
Water
Demand(L‘,] 116 98 123 111 152 143
m
Age
7 Days 28 Days
Concrete Strength Wet Density Strength Wet Density
(MPa) (kg/m’) (MPa) (kg/m’)
P600 0.5 530 0.8 550
PF600 0.6 480 0.7 520
P800 3.2 820 3.8 820
PF800 1.4 760 2.1 760
P1000 5.5 1020 6.7 1040
PF1000 3.0 980 4.6 990
Concrete 56-Day shrinkage(Micro strain)
P600 2690
PF600 2290
P800 1840
PF800 1630
P1000 1300
PF1000 1260




Concrete R-value Conductivity
3%)* m°C /W + ( 3%)* mOC /W + (
P600 0.746 0.134
PF600 0.755 0.132
P800 0.456 0.219
PF800 0.462 0.216
P1000 0.325 0.308
PF1000 0.342 0.292
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A=05 W/m°C=R=2x.02/.5=.08 m*°C/W =
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R =128 m2°cIw

Ry =28 +.17+.04+.017 = 507 m2°C /W

Uy, =1972 W /m*C
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Ry =.39+.17+.04+.017 = 617 m2°C /1w
U,y =1.621 W Im?°C
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=2><0.4m><880k—g3><1.15+2><0.02><16ook—g3 —81+64= 145"—g2

m m m
t S ok 09 -Y

:2><0.04m><1200><1.15+2x0.02*1600=96+64=160k—g

m2

Hlgs Sl 39 -Y

:2><0.14m><600><1.15+2><0.02*1600:55+64=119k—g

2
= 0.15%450+2x0.02*1600 = 67.5 + 64 = 132k—g2
m
P Joexe slaylgse
W = 0.105x1800k—g3+2><0.02m xléook—g3 — 184+ 64 = 253"—g2
m m m
kg kg kg
2—W =0.105x850 "5 +2x0.02m x 1600--5 = 89 + 64 = 153 -5
m m m
kg kg kg
3= =0.105% 20005 +2x0.02m x 16005 =210+ 64 = 274 -5
m m m
kg kg kg
4-W =0.105% 21005 +2x0.02m x 1600—~&- = 210 + 64 = 2745
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Hy=Uy XAW(W/°C)

381

536

348

280

735

623

512

760

( ) (KW.h)
68400 18997
46800 12987
25300 7030
73220 20339
38400 10679
16800 4669
43300 12021
74800 20768
53100 14758
31700 8801
79600 22110
87900 24417
66300 18406
44800 12450
92700 25759
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X “2’1‘5'5 25x20x60 | 25x10x20 | 49x 19 x20
220 5434 720 3380
124.30 6.00 33.00 9.30
2.0 18.0 4.0 10.5 (
27346 32604 23760 31434
248.6 108.0 132.0 97.7
547 652 475 629 ()
27893 33256 24235 32063
25 25 25 25 (
400 400 400 400 (
164 164 164 164 (
68.0 23.5 44.0 20.0 ()
11152 3854 7216 3280
124.2 42.9 80.3 36.5
7771 6413 6413 3425
71.3 60.0 60.0 30.3
160000 160000 160000 160000 (
40000 40000 40000 40000 (
15 25 20 32
16000 9600 12000 7500
62816 53123 49864 46268 )
444.1 210.9 272.3 164.5
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1- “Optimizing insulation thickness for building using life cycle cost”,
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